

Communication



MGMT Promoter Methylation and IDH1 Mutations Do Not Affect [¹⁸F]FDOPA Uptake in Primary Brain Tumors

Andrea Cimini ^{1,*,†}^(b), Agostino Chiaravalloti ^{1,2,†}^(b), Maria Ricci ¹^(b), Veronica Villani ³, Gianluca Vanni ⁴ and Orazio Schillaci ^{1,2}

- ¹ Department of Biomedicine and Prevention, University Tor Vergata, 00133 Rome, Italy; agostino.chiaravalloti@gmail.com (A.C.); maria.ricci28@gmail.com (M.R.); orazio.schillaci@uniroma2.it (O.S.)
- ² Nuclear Medicine Section, IRCCS Neuromed, 86077 Pozzilli, Italy
- ³ Neuro-Oncology Unit, Regina Elena National Cancer Institute, 00144 Rome, Italy; veronicavillani79@gmail.com
- ⁴ Department of Surgical Science, Tor Vergata (PTV) University, 00133 Rome, Italy; Vanni_gianluca@yahoo.it
- * Correspondence: andreacimini86@yahoo.it; Tel.: + 39-062-090-2467
- + These authors contributed equally to this work.

Received: 14 September 2020; Accepted: 13 October 2020; Published: 14 October 2020



Abstract: The aim of our study was to investigate the effects of methylation of O^6 -methylguanine-DNA methyltransferase promoter (MGMTp) and isocitrate dehydrogenase 1 (IDH 1) mutations on amino acid metabolism evaluated with 3,4-dihydroxy-6-[¹⁸F]-fluoro-l-phenylalanine ([¹⁸F] FDOPA) positron emission tomography/computed tomography (PET/CT). Seventy-two patients with primary brain tumors were enrolled in the study (33 women and 39 men; mean age 44 ± 12 years old). All of them were subjected to PET/CT examination after surgical treatment. Of them, 29 (40.3%) were affected by grade II glioma and 43 (59.7%) by grade III. PET/CT was scored as positive or negative and standardized uptake value ratio (SUVr) was calculated as the ratio between SUVmax of the lesion vs. that of the background. Statistical analysis was performed with the Mann–Whitney U test. Methylation of MGMTp was detectable in 61 out of the 72 patients examinated. Mean SUVr in patients without methylation of MGMTp was 1.44 ± 0.38 vs. 1.35 ± 0.48 of patients with methylation (p = 0.15). Data on IDH1 mutations were available for 43 subjects; of them, 31 are IDH-mutant. Mean SUVr was 1.38 ± 0.51 in patients IDH mutant and 1.46 ± 0.56 in patients IDH wild type. MGMTp methylation and IDH1 mutations do not affect [¹⁸F] FDOPA uptake in primary brain tumors and therefore cannot be assessed or predicted by radiopharmaceutical uptake parameters.

Keywords: Primary brain tumors; nuclear medicine; positron emission tomography; [¹⁸F]FDOPA; MGMT promoter methylation; IDH1 mutation; radiopharmaceuticals

1. Introduction

In the recent World Health Organization (WHO) Classification of Tumors of the Central Nervous System (2016), molecular genetic alterations have been incorporated to the classic histology of primary brain tumors (PBT) [1], including isocitrate dehydrogenase 1 and 2 (IDH1 and IDH2) mutations and methylation of the *O*⁶-*methylguanine-DNA methyltransferase promoter* (MGMTp). The IDH mutation is associated with a better prognosis in patients with glioma, independently of histological parameters and tumor grade [2].

MGMTp methylation silences the MGMT gene and reduces the ability of tumor cells to repair damage caused by temozolomide and other alkylating agents [1]. Moreover, MGMTp methylation confers a better prognosis to high grade gliomas [3,4].

Positron emission tomography (PET) with amino acid tracers ¹¹C-methyl-l-methionine ([¹¹C]MET), O-(2-[¹⁸F]fluoroethyl)-l-tyrosine ([¹⁸F]FET), and 3,4-dihydroxy-6-[¹⁸F]-fluoro-l-phenylalanine ([¹⁸F]FDOPA) is widely used in the management of gliomas for tumor grading, differential diagnosis, delineation of tumor extent, surgical and radiotherapy treatment planning, and post-treatment surveillance [5]. These radiolabeled compounds allow the visualization of the amino acid radiopharmaceuticals uptake mediated by the L-type amino acid transporter 1 and 2 (LAT1 and LAT2) and related to the augmented protein synthesis in brain tumor cells; nevertheless, the relationship between amino acid tracers uptake and molecular parameters in the context of the recent WHO classification is still unclear.

A previous paper by Lopci et al. evaluated the count rate (the number of counts per second measured by the scanner) in a ROI drawn on the area of the tumor with the highest uptake of [¹¹C] MET in patients with supratentorial glioma who underwent surgery. The study mainly explored the relationship between this parameter and clinical biological data (including IDH1 mutation status, 1p/19q codeletion and MGMT promoter methylation), describing a significant correlation with histological grade and IDH1 mutation status [6]. Moreover, previous data suggested [¹⁸F] FET PET imaging may allow a non-invasive evaluation of IDH mutation status in gliomas [7,8], even if IDH mutated and 1p/19q co-deleted oligodendrogliomas cannot be differentiated from glioblastomas and astrocytomas by [¹⁸F] FET PET [7].

In 2017, the results of the study of Verger et al. evaluating 43 patients with grade II and III gliomas, conversely showed higher [¹⁸F]FDOPA uptake in gliomas with IDH mutation [9]; nevertheless, in the study of Cicone et al. [10], including 33 patients with glioma (grade II, III, and IV gliomas), [¹⁸F]FDOPA uptake parameters did not show any correlation with IDH status, with no significant differences between IDH mutant and IDH wild-type gliomas.

Regarding the MGMTp methylation, Okita et al. found a significant correlation between MET uptake and MGMTp methylation in patients with non-enhancing grade II and III glioma [11]. In contrast, other authors have not found any correlation between amino acid tracers and MGMTp methylation status [6,12].

The aspects concerning the possible correlation between imaging and genetic biomarkers may lead to novel insight into glioma physiopathology, potentially improving its management.

Nevertheless, to date, the scientific literature described heterogeneous results, and therefore, further studies are needed in order to determinate the possible relationship between amino acid radiopharmaceuticals metabolism and molecular genetic parameters. In fact, to the best of our knowledge, the relationship between molecular alterations and uptake of [¹⁸F]FDOPA, an analog of l-3,4-dihydroxyphenylalanine (L-DOPA) with a similar metabolic pathway in cells, has been examined only in two reports [9,10] with contrasting results. Therefore, this study aims to investigate the effects of MGMTp methylation and IDH1 mutations on amino acid metabolism with [¹⁸F]FDOPA PET/computed tomography (CT) in patients with glioma.

An initial version of this paper has been presented as a conference paper at the 32nd Annual Congress of the European Association of Nuclear Medicine.

2. Materials and Methods

2.1. Patients

Seventy-two patients with primary brain tumors were included in this retrospective study (33 women and 39 men; mean age 44 \pm 12 years old). After surgical treatment, all patients were subjected to PET/CT examination with [¹⁸F]FDOPA at Policlinico Tor Vergata (Rome, Italy) or at IRCCS Neuromed (Pozzilli, Italy) between December 2011 and March 2019: the time from surgery

to imaging ranges from six months to 41 months (median eight months) in the study population. The subjects included in the retrospective analysis were chosen according to the following criteria: adult age (\geq 18 years old), the availability of brain tumor molecular genomic information (IDH1 status and/or MGMTp methylation, detected respectively by immunohistochemistry and methylation specific PCR) and willingness to participate in the present study as demonstrated by providing written informed consent. Patients with glioblastoma (grade IV glioma) were excluded from the study for the low number of patients available (only two). Moreover, the MGMTp methylation status in these tumors may change after surgery, representing a possible bias for our analysis [13,14]. The study was performed according to the declaration of Helsinki [15].

Of the 72 patients, 37 patients were affected by astrocytoma (51.4%), three by anaplastic astrocytoma (4.1%), two by oligoastrocytoma (2.8%), two by brain stem glioma (2.8%), and 28 by oligodendroglioma (38.9%). Regarding tumor grade, 29 patients were affected by grade II glioma (40.3%) and 43 (59.7%) by grade III glioma.

2.2. [18F]FDOPA PET/CT, SUVmax, SUVratio, and Image Evaluation

PET/CT images were acquired using a Discovery VCT or a Discovery ST 16 scanner (GE Healthcare, Chicago, Illinois, USA) 20 min after [¹⁸F]FDOPA injection (180 \pm 75 MegaBequerels). No carbidopa was administered before radiotracer injection. PET/CT acquisition lasted 12 min in all patients. Image reconstruction was performed using ordered-subsets expectation maximization (OSEM) with 20 subsets and ordered-subsets expectation maximization (OSEM) with 20 subsets and ordered-subsets expectation maximization (OSEM) with 20 subsets and four iterations. Attenuation correction with a low-ampere CT scan of the head (40 mA; 120 kV) was performed before PET image acquisition. Figure 1 shows two lesions of the study with high uptake of [¹⁸F]FDOPA.



Figure 1. (**A**) [¹⁸F]FDOPA PET/CT image of patient #3 (III grade oligondendroglioma, O^6 -methylguanine-DNA methyltransferase promoter (MGMTp) methylated, and isocitrate dehydrogenase (IDH) mutant) demonstrates an area of pathologic accumulation of the tracer in the left frontal lobe (orange arrow, SUVmax 3.2) with the involvement of the ipsilateral striatum. (**B**) [¹⁸F]FDOPA PET/CT image of patient #27, II grade astrocytoma, MGMTp methylated, and IDH1 wild type shows an area of pathological uptake of the radiopharmaceutical (blue arrow, SUVmax 2.9) in the posterior region of the surgical cavity, localized in the right frontal lobe.

A volume of interest (VOI) on the recurrence site was traced by an experienced nuclear medicine physician (A.Ch.) starting from the slice with the highest uptake of the radiopharmaceutical. Moreover, the use of co-registered MRI images [16] permitted a correct placement of the VOI, even in tumors with involvement of the striatum (Figure 1A). From the VOI, the maximum standardized uptake value

for the site of recurrence (SUVmax lesion) was calculated on a dedicated workstation (version 4.4, Advantage Workstation, GE Healthcare, Chicago, IL, USA). No one of the patients of this study had PBT in the occipital region; therefore, this site was chosen for SUVmax calculation for the background (SUVmax occ), obtained using a standard VOI of 1.5 cm × 1.5 cm × 1.5 cm, placed on the occipital lobe as proposed in a previous study of Chiaravalloti et al. [17].

SUVratio (SUVr) was calculated as SUVmax/SUVmax occ [16].

2.3. Statistical Analysis

We calculated the means and the standard deviation of the results of semiquantitative analysis for SUVr in different molecular genetic parameters. Possible differences in SUVr values for patients with different molecular genetic parameters (MGMTp methylation vs. no MGMTp methylation; IDH1 mutant vs. IDH1 wildtype) have been assessed using the Mann–Whitney U test.

2.4. Ethics Statement

This research was approved by Comitato Etico Istituto Neurologico Mediterrraneo Neuromed (Chiaravalloti2018/2021, 01/12/2018). Written informed consent was obtained from each of the donors.

3. Results

Methylation of MGMTp was detectable in 61 out of the 72 patients examinated (84.7%). Data on IDH1 mutations were available for 43 subjects; 31 were IDH1 mutant (72.1%). According to the 2016 WHO classification of Tumors of the Central Nervous System: 26 patients had grade II glioma and MGMTp methylation (36.1%); three patients had grade II glioma but no MGMTp methylation (4.2%); 35 patients had grade III glioma and MGMTp methylation (48.6%); eight patients had grade III glioma but no MGMTp methylation (11.1%); 14 patients had grade II glioma IDH1 mutant (32.5%); four patients had grade II glioma but no mutation of IDH 1 (IDH1 wild-type) (9.3%); 17 patients had grade III glioma IDH1 mutant (39.5%); and eight patients had grade III glioma IDH wild-type (18.6%). A general overview of study population with the molecular genetic parameters is reported in Table 1.

Patient	Tumor Type	Tumor Grade	O ⁶ -methylguanine- DNA methyltransferase promoter (MGMTp) Methylation (Y/N)	Isocitrate Dehydrogenase 1 (IDH1) Mutation (Y/N)	SUVma × Lesion	SUVma × occ	SUVr
#1	Astrocytoma	2	Y		0.9	0.9	1
#2	Astrocytoma	3	Y		1.6	1.6	1
#3	Oligodendroglioma	3	Y	Y	3.2	1.3	2.46
#4	Oligodendroglioma	3	Y	Y	3.4	2.2	1.54
#5	Oligodendroglioma	3	Y		3.4	1.9	1.79
#6	Anaplastic Astrocytoma	3	Y		0.9	0.8	1.12
#7	Astrocytoma	2	Y	Y	0.9	0.7	1.28
#8	Anaplastic Astrocytoma	3	Y	Y	1.2	0.9	1.33
#9	Astrocytoma	2	Ν	Y	2.1	1.2	1.75
#10	Brain Stem Glioma	2	Y		1.7	1.2	1.42
#11	Astrocytoma	2	Ν	Y	2.1	1.2	1.75
#12	Brain Stem Glioma	2	Y		1.7	1.2	1.42
#13	Astrocytoma	3	Y		1.9	1.5	1.26
#14	Oligodendroglioma	2	Y		0.8	0.9	0.88
#15	Astrocytoma	3	Ν		2.6	1.6	1.62
#16	Astrocytoma	3	Ν		2.6	1.4	1.86
#17	Oligodendroglioma	2	Y	Y	1.7	1.4	1.21
#18	Oligodendroglioma	2	Y	Y	1.5	1.3	1.15

 Table 1. Overview of study population with the molecular genetic parameters.

Patient	Tumor Type	Tumor Grade	O ⁶ -methylguanine- DNA methyltransferase promoter (MGMTp) Methylation (Y/N)	Isocitrate Dehydrogenase 1 (IDH1) Mutation (Y/N)	SUVma × Lesion	SUVma × occ	SUVr
#19	Oligodendroglioma	2	Y		1.5	1	1.5
#20	Astrocytoma	2	Ŷ	Ν	1.1	0.9	1.22
#21	Oligoastrocytoma	2	Y		1.4	1.5	0.93
#22	Astrocvtoma	2	Y		1.4	1.0	1.4
#23	Astrocvtoma	3	Y		1.7	1.1	1.54
#24	Oligoastrocytoma	2	Y	Y	2.2	1.4	1.57
#25	Oligodendroglioma	3	Y	Y	0.8	0.9	0.89
#26	Oligodendroglioma	3	Y		1.5	1.5	1
#27	Astrocvtoma	2	Y	Ν	2.9	1.5	1.93
#28	Oligodendroglioma	3	Y	Y	0.94	0.72	1.3
#29	Astrocytoma	3	Ŷ		2.09	1.05	1.99
#30	Oligodendroglioma	2	Y	Y	1.2	0.9	1.33
#31	Oligodendroglioma	2	Ŷ	-	2	1.6	1.25
#32	Astrocytoma	3	Ŷ	Ν	2.3	1	2.3
#33	Astrocytoma	3	Ŷ	- •	2	1	2
#34	Oligodendroglioma	2	Ŷ		1.3	0.8	1.62
#35	Astrocytoma	3	N	Y	2	14	1.02
#36	Astrocytoma	3	Y	Y Y	12	0.9	1.40
#37	Astrocytoma	3	I V	1	2.4	13	1.85
#39	Astrocytoma	2	1 V		2.4	1.5	1.05
#30	Astrocytoma	2	I V		1.1	15	1.1
#39	Olizadandragliama	2	I V	V	5.2	1.5	2.00
#40		2	1 V	1 V	5.2	1.0	2.09
#41	Astrocytoma	3	I V	I V	0.9	1	0.9
#42	Astrocytoma	3	Y V	Y V	1.5	1.1	1.36
#43	Oligodendroglioma	3	Y	Y V	1.2	1.1	1.09
#44	Astrocytoma	2	Y	Ŷ	1.2	1.4	0.86
#45	Anaplastic	3	Y	Y	1.7	1.3	1.31
11.4.6	Astrocytoma	2	N	N	1 -	0.0	1.07
#46	Oligodendroglioma	3	Y	Ŷ	1.5	0.8	1.87
#47	Oligodendroglioma	3	Y	N	1.6	1.1	1.45
#48	Oligodendroglioma	2	Ŷ	Ŷ	1.6	1.4	1.14
#49	Oligodendroglioma	3	Ŷ	Y	3.04	2.17	1.4
#50	Oligodendroglioma	3	Y		2.1	2.04	1.03
#51	Oligodendroglioma	3	Y		2.1	2.07	1.01
#52	Astrocytoma	3	Y	Y	8.2	1.95	4.2
#53	Astrocytoma	3	Y		1.57	1.54	1.02
#54	Astrocytoma	3	Y		2.51	1.41	1.78
#55	Astrocytoma	3	Y		3.58	1.96	1.83
#56	Astrocytoma	3	Y	_	3.43	2.02	1.7
#57	Astrocytoma	3	Y	Y	2.88	2.21	1.3
#58	Astrocytoma	3	Ν	Ν	5.13	4.6	1.11
#59	Astrocytoma	3	Ν	Ν	2.34	2.3	1.02
#60	Astrocytoma	3	Y	Ν	7.07	2.65	2.67
#61	Astrocytoma	3	Y	Ν	2.85	1.56	1.83
#62	Astrocytoma	3	Y	Ν	3.58	2.04	1.75
#63	Astrocytoma	3	Y	Ν	2.72	1.73	1.57
#64	Oligodendroglioma	3	Ν	Y	2.41	2.43	0.99
#65	Oligodendroglioma	3	Ν	Y	3	3.03	0.99
#66	Oligodendroglioma	2	Y	Ν	2.88	2.97	0.96
#67	Oligodendroglioma	2	Y	Ν	1.94	2.22	0.87
#68	Oligodendroglioma	2	Y	Y	3.77	2.68	1.4
#69	Astrocvtoma	3	Ν	Ν	2.18	2.24	0.89
#70	Oligodendroglioma	2	Y	Y	2.81	2.36	1.19
#71	Astrocvtoma	2	Ň	Ŷ	2.51	2.67	0.94
#72	Oligodendroglioma	2	Ŷ	Ŷ	1.8	1.7	1.05
		-	-	-			

Table 1. Cont.

The Mann–Whitney U test showed no statistical difference (p = 0.15) in [¹⁸F]FDOPA uptake between patients with methylation of MGMTp and patients with no methylation of MGMTp (mean SUVr 1.44 ± 0.38 vs. 1.35 ± 0.48 respectively). Moreover, no significant difference (p = 0.79) in [¹⁸F]FDOPA uptake has been demonstrated between patients IDH1 mutant and IDH1 wild type (mean SUVr 1.38 ± 0.51 vs. 1.46 ± 0.56, respectively). An overview of the final results is provided in Table 2 and in Figure 2.

Patients	Mean SUVr ± Standard Device	p (Mann Whitney U Test)			
O ⁶ -methylguanine-DNA methyltransferase promoter (MGMTp) methylation vs. no MGMTp methylation	1.44 ± 0.38 vs. 1.35 ± 0.48	0.15			
Isocitrate dehydrogenase 1 (IDH1) mutant vs. IDH1 wild-type	1.438 ± 0.51 vs. 1.46 ± 0.56	0.79			
Methylated-	IDH1 mutant IDH1 wildtype	H SUV ratio			
А	В				

Table 2. General overview of final results.

Figure 2. Box-plots showing no statistical differences in (**A**) [¹⁸F]FDOPA uptake between patients with methylation of O^6 -methylguanine-DNA methyltransferase promoter (MGMTp) and patients with no methylation of MGMTp (p = 0.15) and (**B**) between patients isocitrate dehydrogenase 1 (IDH1) mutant and IDH1 wild-type (p = 0.79).

4. Discussion

In light of the new WHO molecular classification for brain tumors (2016), the possible influence of genomic markers on the degree of amino acid radiopharmaceuticals uptake has been discussed [18]. The role of amino acid radiopharmaceuticals in tumor grading and patient prognosis is well confirmed. In contrast, their correlation with molecular markers is still to be established: the few studies conducted have led to a heterogeneity of results, and the overall scenario in the scientific literature is not yet clear. The potential of PET with amino acid radiopharmaceuticals for the prediction of genomic alterations in PBT is still under discussion.

To the best of our knowledge, this is the first study to correlate the methylation status of MGMT promoter with the degree of [¹⁸F]FDOPA uptake in patients with glioma, showing no significant differences between the two patient groups examined (p = 0.15). Our results and the findings of the studies of Lopci et al. [6] and Ribom et al. [12] with [¹¹C]MET PET highlight an overall lack of correlation between the degree of amino acid tracers uptake and the methylation status of MGMT promoter: in comparison with the previous reports mentioned above, we used a three-dimensional VOI for the assessment of semiquantitative PET parameters to evaluate better a possible heterogeneity of amino acid metabolism in the tumor.

As regards the IDH1 status, no statistically significant differences were found in the degree of [¹⁸F]FDOPA uptake between IDH1 mutant and IDH1 wildtype patients (p = 0.79), according to the results of the study by Cicone et al., with a slightly higher number of patients in our analysis (43 vs. 31) [10]; our results are also in contrast with the previous report of Verger et al. [9], in which a paradoxically higher [¹⁸F]FDOPA uptake in IDH mutant glioma was shown. Nevertheless, the authors' methodology was different (bidimensional ROI used by Verger et al. [7] vs. tridimensional VOI used in our analysis), that may explain the contrasting results.

Considering our findings with those of previous studies with [¹¹C]MET and [18F]FET PET [6–8], in which higher values of uptake of the radiopharmaceutical in IDH wild-type gliomas compared to IDH mutant gliomas were demonstrated, we support the hypothesis of different behavior of the IDH status of glioma on amino acid tracers metabolism and in particular a lack of influence only on [¹⁸F]FDOPA uptake. Nevertheless, it is essential to underline that the heterogeneity of results in literature may depend on different study methods or bias in selection of patients as well; hence, further studies are needed to confirm the lack of correlation between [¹⁸F]FDOPA uptake and the IDH status of gliomas.

Regarding the semiquantitative values of the analysis, the normalization of SUV (i.e., ratio between pathological and healthy tissue) represented the best strategy to evaluate PET exams with [¹⁸F]FDOPA in this study since SUV values may vary significantly using different injected activities, tomographs, or reconstruction parameters [19].

The study had some limitations: first, the results are obtained retrospectively; second, the much greater number of patients with MGMTp methylation in comparison to patients with no MGMTp methylation (61 vs. 11 respectively) and the more significant number of patients with IDH1 mutation in comparison to patients IDH1 wild-type (31 vs. 12 respectively); future studies with numerically balanced subgroups are needed in order to confirm our findings. Furthermore, another significant aspect to consider is the long time interval between the date of surgery and date of execution of PET/CT examination with [¹⁸F]FDOPA (> 1 year in many cases). During this period, it is not possible to exclude a switch of low-grade gliomas toward more malignant forms, representing a bias for our analysis. In a recent study, Murphy et al. [20] demonstrated a conversion rate of low-grade gliomas to more aggressive forms of 21%, with a median transformation time of 56 months. Moreover, as mentioned above, we excluded the most aggressive forms (grade IV gliomas) from our analysis: our results cannot be applied to all types of gliomas.

5. Conclusions

Based on these results, the molecular-genomic characteristics of gliomas are not correlated with the degree of [¹⁸F]FDOPA uptake and therefore cannot be assessed or predicted by radiopharmaceutical uptake parameters.

Author Contributions: Data Curation: A.C. (Andrea Cimini), A.C. (Agostino Chiaravalloti), M.R., V.V. and G.V. Wrote the paper: A.C.: (Andrea Cimini), A.C. (Agostino Chiaravalloti), M.R., O.S. Analysis: A.C. (Agostino Chiaravalloti). Supervision: A.C. (Agostino Chiaravalloti), G.V., O.S. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Acknowledgments: An initial version of this paper has been presented as a conference paper at the 32nd Annual Congress of the European Association of Nuclear Medicine.

Conflicts of Interest: The authors declare no conflict of interest.

References

- 1. Lapointe, S.; Perry, A.; Butowski, N.A. Primary brain tumours in adults. Lancet 2018, 392, 432–446. [CrossRef]
- 2. Cheng, W.; Ren, X.; Zhang, C.; Cai, J.; Han, S.; Wu, A. Gene expression profiling stratifies IDH1-mutant glioma with distinct prognoses. *Mol. Neurobiol.* **2016**, *54*, 5996–6005. [CrossRef] [PubMed]

- 3. Wick, W.; Hartmann, C.; Engel, C.; Stoffels, M.; Felsberg, J.; Stockhammer, F.; Sabel, M.C.; Koeppen, S.; Ketter, R.; Meyermann, R.; et al. NOA-04 randomized phase III trial of tequential radiochemotherapy of anaplastic glioma with procarbazine, lomustine, and vincristine or temozolomide. *J. Clin. Oncol.* **2009**, *27*, 5874–5880. [CrossRef] [PubMed]
- 4. Weller, M.; Stupp, R.; Hegi, M.E.; van den Bent, M.; Tonn, J.C.; Sanson, M.; Wick, W.; Reifenberger, G. Personalized care in neuro-oncology coming of age: Why we need MGMT and 1p/19q testing for malignant glioma patients in clinical practice. *Neuro Oncol.* **2012**, *14*, 100–108. [CrossRef] [PubMed]
- Albert, N.L.; Weller, M.; Suchorska, B.; Galldiks, N.; Soffietti, R.; Kim, M.M.; la Fourgère, C.; Pope, W.; Law, I.; Arbizu, J.; et al. Response assessment in neuro-oncology working group and european association for neuro-oncology recommendations for the clinical use of PET imaging in gliomas. *Neuro Oncol.* 2016, 18, 1199–1208. [CrossRef] [PubMed]
- Lopci, E.; Riva, M.; Olivari, L.; Raneri, F.; Soffietti, R.; Piccardo, A.; Bizzi, A.; Navarria, P.; Ascolese, A.M.; Rudà, R.; et al. Prognostic value of molecular and imaging biomarkers in patients with supratentorial glioma. *Eur. J. Nucl. Med. Mol. Imaging* 2017, 44, 1155–1164. [CrossRef] [PubMed]
- Verger, A.; Stoffels, G.; Bauer, E.K.; Lohmann, P.; Blau, T.; Fink, G.R.; Neumaier, B.; Shah, N.J.; Langen, K.J.; Galldiks, N. Static and dynamic (18)F-FET PET for the characterization of gliomas defined by IDH and 1p/19q status. *Eur. J. Nucl. Med. Mol. Imaging* 2018, 45, 443–451. [CrossRef] [PubMed]
- Blanc-Durand, P.; Van Der Gucht, A.; Verger, A.; Langen, K.J.; Dunet, V.; Bloch, J.; Brouland, J.P.; Nicod-Lalonde, M.; Schaefer, N.O.; Prior, J. Voxel-based 18F-FET PET segmentation and automatic clustering of tumor voxels: A significant association with IDH1 mutation status and survival in patients with gliomas. *PLoS ONE* 2018, 13, e0199379. [CrossRef] [PubMed]
- Verger, A.; Metellus, P.; Sala, Q.; Colin, C.; Bialecki, E.; Taieb, D.; Chinot, O.; Figarella-Branger, D.; Guedj, E. IDH mutation is paradoxically associated with higher 18F-FDOPA PET uptake in diffuse grade II and grade III gliomas. *Eur. J. Nucl. Med. Mol. Imaging* 2017, 44, 1306–1311. [CrossRef] [PubMed]
- Cicone, F.; Carideo, L.; Scaringi, C.; Arcella, A.; Giangaspero, F.; Scopinaro, F.; Minniti, G. 18 F-DOPA uptake does not correlate with IDH mutation status and 1p/19q co-deletion in glioma. *Ann. Nucl. Med.* 2019, *33*, 295–302. [CrossRef] [PubMed]
- Okita, Y.; Nonaka, M.; Shofuda, T.; Kanematsu, D.; Yoshioka, E.; Kodama, Y.; Mano, M.; Kinoshita, M.; Nonaka, M.; Nakajima., S.; et al. 11C-methionine uptake correlates with MGMT promoter methylation in nonenhancing gliomas. *Clin. Neurol. Neurosurg.* 2014, 125, 212–216. [CrossRef] [PubMed]
- 12. Ribom, D.; Schoenmaekers, M.; Engler, H.; Smits, A. Evaluation of 11C-methionine PET as a surrogate endpoint after treatment of grade 2 gliomas. *J. Neurooncol.* **2005**, *71*, 325–332. [CrossRef] [PubMed]
- Parkinson, J.F.; Wheeler, H.R.; Clarkson, A.; McKenzie, C.A.; Biggs, M.T.; Little, N.S.; Cook, R.J.; Messina, M.; Robinson, B.G.; McDonald, K.L. Variation of O 6 -methylguanine-DNA methyltransferase (MGMT) promoter methylation in serial samples in glioblastoma. *J. Neurooncol.* 2008, *87*, 71–78. [CrossRef] [PubMed]
- 14. Brandes, A.A.; Franceschi, E.; Tosoni, A.; Bartolini, S.; Bacci, A.; Agati, R.; Ghimenton, C.; Turazzi, S.; Talacchi, A.; Skrap, M.; et al. O(6)-methylguanine DNA-methyltransferase methylation status can change between first surgery for newly diagnosed glioblastoma and second surgery for recurrence: Clinical implications. *Neuro Oncol.* **2010**, *12*, 283–288. [CrossRef] [PubMed]
- 15. World Medical Association. World Medical Association Declaration of Helsinki: Ethical principles for medical research involving human subjects. *JAMA* 2013, *310*, 2191–2194. [CrossRef] [PubMed]
- Chiaravalloti, A.; Esposito, V.; Ursini, F.; Di Giorgio, E.; Zinzi, M.; Calabria, F.; Cimini, A.; Schillaci, O. Overall survival and progression-free survival in patients with primary brain tumors after treatment: Is the outcome of [18 F] FDOPA PET a prognostic factor in these patients? *Ann. Nucl. Med.* 2019, *33*, 471–480. [CrossRef] [PubMed]
- 17. Chiaravalloti, A.; Fiorentini, A.; Villani, V.; Carapella, C.; Pace, A.; Di Pietro, B.; Di Russo, C.; Palumbo, B.; Floris, R.; Schillaci, O. Factors affecting (1)(8)F FDOPA standardized uptake value in patients with primary brain tumors after treatment. *Nucl. Med. Biol.* **2015**, *42*, 355–359. [CrossRef] [PubMed]
- Suchorska, B.; Albert, N.L.; Bauer, E.K.; Tonn, J.C.; Galldiks, N. The Role of Amino-Acid PET in the Light of the New WHO Classification 2016 for Brain Tumors. *Q. J. Nucl. Med. Mol. Imaging* 2018, 62, 267–271. [CrossRef] [PubMed]

- 19. Adams, M.C.; Turkington, T.G.; Wilson, J.M.; Wong, T.Z. A systematic review of the factors affecting accuracy of SUV measurements. *Am. J. Roentgenol.* **2010**, *195*, 310–320. [CrossRef] [PubMed]
- 20. Murphy, E.S.; Leyrer, C.M.; Parsons, M.; Suh, J.H.; Chao, S.T.; Yu, J.S.; Kotecha, R.; Jia, X.; Peereboom, D.M.; Prayson, R.A.; et al. Risk factors for malignant transformation of low-grade glioma. *Int. J. Radiat. Oncol. Biol. Phys.* **2018**, *100*, 965–971. [CrossRef] [PubMed]

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http://creativecommons.org/licenses/by/4.0/).